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KPR BB RS (ZE—HFE/AA)

28 P2 I PR & &R 158 FERE
/&)

% g 6-10 7.5-8.6 8.0 yass
HEE (mg) 100 <20-21 20.4 pss
BEEE V)48 &2 (mg/) 10 <2 <2 s
MY E (ng/l) 2000 645 - 1501 982 pss
WAL 48 & (me/) 10 <0.5 <0.5 s
FALEEE (mg/l) 0.1 <0.040 - 0.069 0.050 yoss
BOTEIRE A E (me/) 100 16 - 31 20.5 yoss
s (mg/) 20 <10 <10 s
Mm&EE (mg/) 0.5 <0.3 <0.3 yoss
Ber A E (mg/) 1 <0.60 - 0.68 0.62 yoss
FHEDEMER (mg/) 15 <7 <7 s
EEFEE (mg)) 2000 <100 - 263 170 yoss
AR E (mg/) 200 11-32 21 =
M (0) 43 27-33 31 yiss
DR/ N= EOEHER | B E DL | BEHIE DL s
EEeE

- (mg/) 2 <0.4 <0.4 =
$H (mg/l) 5 <1 <1 =
% (mg/l) 0.1 <0.1 <0.1 =
¥ (mg/D) 1 <0.3 <0.3 s
#1  (mg/D) 2 <0.50 - 0.56 0.51 yiss
g5 (mg/l) 2 <1 <1 =
il (mg/l) 5 <0.2 <0.2 =
7K (mg/l) 0.05 <0.05 <0.05 =
8 (mg/) 2 <1 <1 =
R (mg/) 2 <0.4 <0.4 =
# (mg/l) 5 <1 <1 T
FE (mg/) 2 <1 <1 =
HHE2BYEEHS (ng) 10 <7.0-7.0 7.0 =




28 22 1l IR & B EIg 8 FEaRE
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B (mg/) 5 <1 <1 =
# (me/) 10 <2 <2 =
2 8E
Aldrin (mg/l) 0.01 <0.01 <0.01 s
BHCS (mg/l) 0.01 <0.01 <0.01 s
AL LT (mgl) 0.01 <0.01 <0.01 v
FEZELEEY
K (mg/) 0.1 <0.06 <0.06 e
HEHEMEey :
1,1,1-= & Z K (mg/) 0.05 <0.025 <0.025 =
ZEBEE
% & K 48 & (mg/l) 0.003 <0.003 <0.003 s
A EE -
B EENE & (pc/l) 10000 <10000 <10000 v
#%-226 (pc/l) 30 <30 <30 s
#5-90 (pc/l) 100 <100 <100 v
# FECBEEETE M 5 R 8% 8 8 80 0k - 87 R -
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S8 75 i IR &k = W 1 8 FFERE
B/R)

() =+4oeEvsE @
R (mg/m’) 30 0.0 - 6.0 0.6 vy
— &AL (mg/m’) 200 0.1 - 125.1 16.2 vy
EifE (mg/m’) 60 0.0 - 11.9 1.7 s
#AEE (mg/m’) 4 0.0 - 0.1 0.0 vy
A8 1Y
(Bl = & 1k & = &) 400 51.1 - 224.6 111.6 =
(mg/m’)
A R (mg/m’) 20 0.0 - 4.0 0.2 pes
— & AbE % (mg/m") 100 0.1 - 782 5.4 pes
) B4E®
ok (mg/m?) 10 02 - 2.5 0.6 pes
— &1 bR (mg/m’) 50 3.8 - 30.1 14.9 pes
BEfE (mg/m’) 10 02 - 4.0 1.5 pes
#IEE (mg/m’) 1 0.00 - 0.00 0.00 yies
ALY
(Bl — &1k & 5 &) 200 90.0 - 1322 109.5 =
(mg/m’)
YA R (mg/m’) 10 0.07 - 0.36 0.22 =
— E B % (mg/m’) 50 30 - 9.5 52 =
(H) Hftr
AR EEY
(ML&E R & &8itH) 24 <15 <15 =
(mg/m’)
BEARALEY
(Ulaitfa 25t &) 18.8 <1.2 <1.2 yea
(mg/m’)
e 7& (LLWE BE 5T &) .
(me/m’) 37.5 <1.1 <1.1 =
B (LT ED) (mg/m) 55 <0.18 <0.18 pics
B RECRAEE (mg/m)) 5 <15 <1.5 v
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(B/E)
EaeBE—8"Y
= A EE (S5 OKE )\ [ 48
RELEG-RN® 0.05 <0.009 <0.009 2
= (mg/m’)
EEeBE_E Y
W (mg/m’) 0.06 <0.002 <0.002 =
4B (B )
AELE =R 0.5 <0.060 <0.060 2
= (mg/m’)
& (mg/m’) 0.05 <0.002 <0.002 yiea
TEEHL (ng/m) 0.075 0.006 0.006 s
=E:
1) FEFNEELRGENNEAAN =T ERFERE 9 8E -
) FHEFENEZE LGN EE BN HEEE -
QR EEeBEBE—FORE : - §
4 EEsEEG BT 85 - Mo~ gy~ 85~ 85~ 81 8 88 > 81 -

(5) R A4S g DL 273K ~ 101.3 kPa ~ SE 2R HE RSB IEaT B &
B MLHREEE 112 BASFEEERE -
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28 P22 ) R & GEER SEgE FERE
(B/&)
F—E
8 (H¢ [
B i [ (7K) (E'Jiﬁ B 195106 124 2
)
EEE S %) |0 (;’Eﬁlﬁ 60 - 92 74.6 2
)
EueE
#% (ppm) 0.5 <0.5 <0.5 ik
7K (ppm) 0.1 <0.02 - 0.021 0.020 =
PAEE (ppm) 10 <0.5 <0.5 ik
#1  (ppm) <0.5-3.7 0.7
##  (ppm) <0.5 <0.5
&7  (ppm) <1.0-3.6 1.0
# (ppm) <0.5-1.1 0.5
G R T I =< | .
WE (ppm) 25 <2.5-5.7 2.8 B
# (ppm) 20 <1 <1 =
ALY (ppm) 10 <5 <5 pies
A FE (ppm) 10 <2.0-73 2.1 pies
=L (ppm) 5 <5 <5 pies
B
= g% 2% 1y L
HEIEH Y = 5000 <15 <15 =
= (ppm)
H E = _
(ppm) 10 <5-6 5.1 =
21b K Iy 2 = .
(ppm) 2 <2 <2 =
% &N (ppm) 1 <1 <1 yiss
TCDD (ITEF %) | <1 <1 =

(ppb)




